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5RS alone SRS+WERT Risk Ratio Risk Ratio
Study or Subgroup Events Total Events Total Weight M-H, Fixed, 95% CI M=H, Fixed, 95% CI
Apyama 2006 £ 67 57 65 34.0% 1.06 [0.494, 1.18] —Ti—
Brown 2016 Q. 111 g: 102 S50.8% 1.06 [0.494, 1.20] —i—
Chang 20049 20 30 25 28 15.2% 075 [0.56, 0.99] =
Total (95% CI) 208 195 100.0% 1.01 [0.93, 1.10] -*-
Taotal events 178 165
Heterogeneity, Chi® = 5.59, df = 2 (P = 0.08); I* = 64% 0‘5 OI?‘ 1:5 jl

Test for owerall effect: 7 = 029 (F = 0.77)
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‘unnel plot of comparison: 1 245 HiH, outcome: 1.1 0S.

Favours [experimental] Favours [control]
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SRS alone SRS+WERT Risk Ratio Risk Ratio
Study or Subgroup  Events Total Events Total Weight M-H, Fixed, 95% CI M-H, Fixed, 95% CI
Anyama 2006 40 67 23 65 502k les[l1%, 2.47) —
Brown 2016 51 103 14 91 32.0% 3.22 [L.9l, 5.41] ——
Chang 20049 23 30 a3 28 17.8% 2. 68 [1.45, 4.98] ——
Tatal (95% CI) 200 184 100.0% 2.35 [1.78, 3.11] *
Total events 114 45
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